1 EFREAOHE
(1) 4 Fr

(2) EEHFOFFEH

(3) BEERMEAR

5

(4) FrEREAR

g X B O£ E v
(B &% 34€ 88 1R = 4fn 4% 7A318) Vv

A

7 gg?{’} @f&”}

EfEA S SREARERS V=ys v

@ 0O ME i (D HEEseL R HESIHY )

@ O #H2EREEA O #AEREA O SEEREA
O HEERIREEAN B o

® D E&HIEA B E&HIETER

P EEETREAIT2—7—1 2

k124 8H 7H

12 8RA23H

2 EEOHEE

(1) =k
B O\ MR o A B B R rATERRR
2 F | s SREAERY = L0 B ETREMT2—7—12 —fRER OB

(2) YUSsEERNIHERES IS e S T UINE LI-2R
SF3EIA 2B HF 2EEREORE

i

B0 3 EEOFFREER VX TREORE v



FRX2

EAE (B) Bhe BEEEWER Y Y=y 7 | xEme gzEs |/ 00F Y
e Lo BREETREMRIT2—7—12
M E B &
(4% 4 7A 31BEE) ¥
1. % = 4 26,265 1 7
2. B & %H 39,015 F/H v
3.8 &' OE  H A 12,750 FH v
" R (B - TH)
X 45 & 32|
A i B B OE 7,189
B & & & E 19, 076
C & E & § (A+B) 26, 265
D & & & ¥ 39, 015
E M B E (C—D) A 12,750

(F) MERGOMERL., BREIRROMBEL: B3I L,

t
2

TR BB oWT, BETHMoO0ZBY 25T,

# (O EAFE B B5F O SomcEARHA EoricEE))
B (D EAFE B ®BE D SBomicEART GRamiciE)




#BXa—4a

wAL (B) BLd SHESEERZ =y v [xEme zass | 12271y
B LD REETHREME2—-7—-12

"] E X B =xE

(4% 44 78 s1\A=mE) 7

(Bifir - FH)
B OE O W & E O
A E & 48 B B & 5
I % ® & E . 7,180 |I R OB A & v 39,015
I B & & E v 19,076 B & & % v 39,015
1 EREEREE . 14,480 fE\E E O E
2 EREEREE . 135 # =] & %8
3 F oMo EE - 4,461 |1 H B & - 10,000
I # ux = , A 22,750
mEESRS . A 12,750
' E & % v 26,265 BfE - MEES ., 26,265




HBX4-—-2

EAL (B) BLhe EHELRER 7 V=v 7

v | XEREAEEES

Zl &l = s 3
Al BN o ) Wl

i LpBEETREMET2 —7—-1 2

B & &

(B 4% 34 8H 1H ES)

&Ffn 42 78 31H)

¥

(B4L : TH)
B E & %
I ¥ % B &
A FREBERRD
1 ® F X &= 39, 605
2 T X B B 51, 243
=2 ¥ B % 11,638
o0 = %4 I3 219
7 % B K 11,419
o &= B 7 = 1,810
IV & Bl # & 51
B Bl BT O # M OB X 9, 660
* A ) % 71
= # i 1 % 9,731




